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(A) BBENZ LB NH00kN/MERZBREOBED HDOERKBEKRN/M)  (F) HEBEEAIMERIIREOHED 1O R KEKN/N) prap= = R =
(B) (AN LFKEBEYIEATIEENDTRENEE(m) (F) BN LZBEMERTIBANTAZEDEE(M) =REAR FR7E R BRET
(C) BBEN=& B AHM00KN/ ML F DR IZBDBED S DI KIEKN/m) Q) HIEZHIMLL T ORIBOHFED H OB KEKRN/) Loga
D) (CALEBEEYI AT IEENLTAEZENEE(m) H) Q)N LZEEYIERTIEEDTAEZEDEE(m)
HMETHIVTADLIRESZOHOAEE AEMAOTREDHOKRES

XHES % =

(A) (B) (©) (D) (E) (F) (G) (H) (A) (B) (c) (D) (E) (F) (G) (H)
(1) - - 68.2 1.0 - - 10.3 20 - - 59.5 1.0 - - 10.3 20
(2) - - 68.2 1.0 - - 10.7 2.1 - - 59.3 1.0 - - 10.7 2.1
( 3) - - 77.9 1.0 - - 13.1 26 - - 77.2 1.0 - - 13.1 26
( 4) 113.9 1.0 98.9 1.0 - - 13.0 2.6 1105 1.0 95.1 1.0 - - 13.0 2.6
( 5) 114.3 1.0 99.3 1.0 - - 11.9 2.4 112.1 1.0 99.7 1.0 - - 1.9 2.4
( 6) 116.6 1.0 99.3 1.0 - - 1.9 24 112.3 1.0 99.7 1.0 - - 11.9 24
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